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daga Cilaglas
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Write all the chemical equations balanced including | a5 e 4.0 LS O¥ slaad gres LS|

the conditions of the reaction: | .Jelait dog pd S pe
Answer the following questions: P AGY A e c
1. Choose to answer (a) or (b): 1(2) 91 (1) e ala W1 >3 -
Write the scientific expression |3 ykiatl e 1 alall pllasadt LS

indicated by the following statement: .
doles 3,at) ot adass (1)

(a) Covering the metal .which needs to | s st iati e
protect from corrosion by another . ALK
more active metal. .  »

| opal SSheess JSU ddes ()

(b) A process of chemical corrosion of | et | da g s
metals due to environmental effects.

2. If the solubility degree of aluminum | S g yud Olagh Ay colS faf =Y

hydroxide Al(OH), in water is 10*mol/L, | sLalt o2 AI(OH);3 pouciast¥!
| A )y J g0 10'6‘;.A

: ANY Jols

Calculate its solubility product.
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3. Explain: ol =Y
Stopping the flow of the electric current in | 5,510 L& Lot 55,0 Cad g
the external circuit of Daniel's cell when the Y MJ‘_“‘_,‘ 3 A e Sl

salt bridge is removed from the cell. A5y Ausmlal| 3 plaial
4. Choose the correct answer: s dovouall Al W) 5 ¢

Ethene gas reacts with bromine dissolved | wlietipg ot as (i ¥151e Jelat

in carbon tetrachloride to produce: G 950 1935501 )18l B
@ 1,1-dibromoethane. Olinl gegmAla—1,1 @
@ 1,2-dibromoethane. Okl gagpm ils — 2,1 @
(©)  bromoethene. APV &
@ bromoethane. Olo! geg p @

S. Explain a practical experiment to Show | (g zdsd dules A oo it -0
the effect of surface area of the reactants | oMelaied! plaw dolus x5l
on the rate of reaction. el | Juse Lo
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6. Explain: ' =
The electronic configuration of copper maial (9 ST W S U iy
element (,,Cu) is anomalous than that of | ces a0 (e (20CU) b
the expected electronic configuration. AT g giall g ST

7. Choose to answer (a) or (b): () 91 (1) e Wl W T -V
Show by chemical equations, how to obtain: | :le Juwxi 28 O¥alaetlypdy

(a) Acetone from 2-bromo propane. Olagrsa9 00 -2 e 0¥ (1)
(b) Meta-chloro nitro benzene from benzene. | .y 5 (o (i g5 9598 kie ()

[4]
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8. Complete the table below to ) AGad JLEH Jgdndt JoST -A
correspond the chemical name of the P AO UL Ay S yal |
compound with its structural formula.

Chemical name Structural formula

S pal ! el LSl Al
@ HCl HCHsH
: | | | | |
% H-C-C=C-C -C-H
= [ 11
H H H

.gJ
N Pyrogallol
S~
_g yrogallo
S J9l e g ped!
A
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9. A sample of hydrated iron (III) (TIT) st pglS (e Wne cidew -4
chloride (FeCl, . X H,0), whose mass s (FeCls . X H20) & yugiad |
is 5.41g is strongly heated till its mass Ciontia Wil Cpsnailll g 5.41g

becomes constant at 3.25 g. 3.25 g e Tuls s

Calculate the number of crystallization | (X) »cdf sle Oliaj> de cuws

water molecules (X) of the hydrated S ydgialt (TIT) At 98 elat
iron (IIT) chloride salt. [Fe=56,Cl=35.5, ol Late
[Fe =56, CI=35.5,H=1,0=16] 224 07

[6]
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10.

(a) The alcohol which is used in the

(b) The ester produced from the reaction

11.

12.

®0e6E

Choose to answer (a) or (b):
Write the chemical or common name for:

manufacture of Dacron fiber.

of salicylic acid and methanol.

Explain:

A mixture of salts (aluminum, sodium,
and calcium fluorides) is used instead
of cryolite to be mixed with bauxite on
extracting aluminum electrically.

1(2) 91 (1) oo Al ¥y =\ e
a9 (A LeaSI @u | LS|
Py LI WENH PR ()
.[)3)5‘..\.”
pae> Jelai fpemilid| K d (©)
LJ 83l pe bt

s =\ )
plasiuly Cod 92 )31 (e polatiun
Sl a8 Mol (p0 doglins
poargealligpgiogt¥i e IS
Ao C}«.«.“S_’_d‘ ) P Wira (K ()

LS pgia oI Y o Sl

Choose the correct answer:

On passing an electric current in a copper
chloride solution (CuCl,) and using
platinum electrodes:

The concentration of the solution increases.
Chlorine gas evolves at the anode.
The mass of the cathode decreases.

Chlorine gas evolves at the cathode.

1 dovonall A3l B o) =\ Y

9o B (2 p6S KISl pel e
(CuCly) gt uyg LS
OO (pe wllad] alisviwly

cJglonal | oS 5T 8l 5a @
AW e HglSI nebas @
sglspiass g

93180 wie et aela (3)
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13. Calculate the equilibrium constant Kc

for the following reaction:

Kc o1 =% Sl cewst =Y
o il (g WYVl |

PCl; +Cl2= PCls

Providing that:

The concentration of PCl.= 4M
The concentration of PCl.= 0.8M
The concentration of CL.= 0.3M

14. Choose the correct answer:

®O0eE

Naphthalene isa ............ compound.

Saturated aliphatic.
Unsaturated aliphatic.
Saturated cyclic.

Unsaturated cyclic.

¢ PCl=4M 38,5 : ob lale
. PCL=0.8M 3,3
Cl= 0.3M S,

 Asvual | Agla ¥ 00 -\ ¢

OISy (y bl (L2
A zsesy (1)

Andiall i aslad¥ (Q
Andidl gt ()

Andiall i aattt ()
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15. Explain:

No free hydrogen ions can exist in the

aqueous solutions of acids.

t ot -\o

I3 pie (o g ykagh! Ogal v g ¥

lad| (oles Y Ldloe 2

16. Choose to answer (a) or (b):

Show by chemical equations,
how to obtain:

(a) Iron (IIT) chloride from iron (III) oxide.
(b) Iron (II) oxide from iron (III) hydroxide.

1(9) 91 (1) 5o Al ¥ s =11
A LeaSH O¥ slaatly idg
e Juasi S
ceST (y (M) s w5918 (1)
(D) wwws
oo (I i weusi(o)
(D) o> S gy
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17. A sample of 6 g of impure caustic soda | wlsI! lsguall (o dise (pa 6 g cadl =1V
is dissolved in water and the solution is |y LesTy sledt 3 aadl pui
completed to one litre, If 25ml of this 14 (3a 25m] J;L,_': s 3
solution neutralizes with 18ml of 0.1M ’ :
sulphuric acid. Jpion e 18 gt Jgbonett

Ly S jaes 0 0. 1M

calculate the percentage of caustic soda | _ — .
Ao g LS 13 gl | A s |

in the sample.

Providing that: the molecular mass of o N ) M ‘,“’A
sodium hydroxide [ NaOH= 40 ] e e
93 gt | S g jutmig

[NaOH=40]

18. First : Show by a chemical equation | idleasIiitslactlipisy Yol VA

the preparation of ethyne gasin |y 3 ¥ 5IE pdam
the laboratory. ) ,
Oelia¥ (e Juasias s LAl

Second : How to obtain acetaldehyde Sl e

from ethyne?
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19. Choose to answer (a) or (b):
Write the scientific expression

indicated by the following statement:

(a) The change in the concentration of

reactants per unit time.

(b) The reactions that proceed in both
forwardandbackwarddirectionsandthe
reactants and products are continuously

exit in the reaction medium.

20. Explain:

(@) 9l (1) 5o Al W1 3 =14
3 jliall e JIul) alal pellaiaalf LGS
31gad oS 5 0 i liia (1)
O B g (B ddelaiad!
Oalxd ¥ S (B e GMeLas ()
Mgadt 098y usally g3 ,dal!
Bagm g dmilitlg alelaiotl
Jelad! jo Byl ety

Transition elements are used as ideal

catalysts.

z}m‘a =Y
LGETY poliall pds i
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21. Choose the correct answer: s Aovouall dala ¥ ) =Y
The compound which has the molecular | C4He dawart 4t gt oSt
formula C H_ belongs to the general caalall B youd | Hapual | 1 e
molecular formula of: )

@  CiHono

@ CnHZn-Z

@ CnH2n

@ CaHonnt

22. Explain: sl =YY
The hydrolysis product of ester differs bt St il Calise
according to the type of the reaction (Je it oy g9t LSy DAY
medium.

23. Show by a chemical equation the o 5 AO eI A alaally g - VY

effect of changing reactant concentrations | (i Juse ;L dle iialf slgalf 18,3
on the rate of the chemical reaction of )

) . . ddand | glna (o e
iron (III) chloride and ammonium (D & “”"S.J . “’-' -
thiocyanate solutions. A1 Sl
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24. Choose the correct answer: s Asvouall Al W ) =Y
The compound TiO, is characterised as being: : 0L T102 S pad iy
(@)  Paramagnetic and coloured. Osle g udaliae |yl @
(b)  Diamagnetic and coloured. Oskey umboline s (Q
@ Paramagnetic and colourless. Oy gha il o (oauadoliae 13U @
(@  Diamagnetic and colourless. 0948 g uboline s ()
25. Choose to answer (a) or (b): 1(2) 91 (1) oo Al W1 pd YO
Show by chemical equations, WOt S¥sladdly pdg
how to obtain: r e Juan oS
(a) Benzamide from benzoic acid. il g3l paea (ya el (1)
(b) Diethylether from ethene. O ¥ (e ¥ LS 1 ()
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26. Complete the table below to detect the | caisu JE3 Jguadt JaSi - Y1
following cations:  Acal | OLgTISH Ge

Cation Group reagent for the Chemical formula of the
detected cation precipitate formed

O adst| 090U Ao gast| asls RYCw (PN 0L PP [P PO {

First: Calcium
cation

0918 :;fjs‘
Ay lsh

Second:
Aluminum
cation
03518 :Lols

?‘9:3.’4.93331
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27. When electroplating an iron spoon
with a layer of silver:

First

Second :

: Show by chemical equations

the reactions that occur at the
cathode and the anode.

Calculate the quantity of
electricity in Coulomb to
precipitate 10.8 g of silver
on the surface of the spoon
through the electroplating.
[Ag=108]

At (pe ddale oM e YV
s Aaall (e Adday

Gusd G E e L e g + ¥ g
293189 39301y IS e

sl ¢S S st Loy
o)DM pgt oI5yt e

e 1088 o

Aaalel) plaw le dldll

M T aLae sl sl

[Ag =108] sL et
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28. Choose to answer (a) or (b):

Write the scientific expression
indicated by the following statement:

(a) A chemical analysis which aims
to estimate the percentage of each
essential component of the substance.

(b) A solution with a known concentration
which is used to measure the unknown
concentration of another solution.

29. Choose to answer (a) or (b):
Explain:

(a) On reacting hydrogen bromide with
propene, 2-bromopropane is formed
but 1-bromopropane is not formed.

(b) The boiling points of carboxylic acids
are higher than those of the alcohols
that have the same molecular mass.

() 91 (1) e Al W1 3 - YA

JIat (melal) llaastt CIS)

18)lall e

Al B SleeS Yl (1)
O 0958 S ceid puds
Balel) Alu ¥ Gl gSal

IS = pgdae Jgtme (1)
IS5 et pu i
S N J g 3 J glons

H() 31 (1) oo Aala M1 53 -Y4
1 s
ey S 0 Jelat e (1)
G290 e (e 9!
Obg = 99— -2 (S
Obgr gag -1 O ¥y
RO (I RS WE ()
A3 (4o (olel Al gy ySI1
dgluiadl O eSOl
A ot | AL B Lgas
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30. Choose to answer (a) or (b):

By using silver nitrate, how to
distinguish between: (without writing
chemical equations)

(a) Sodium bromide and sodium iodide?
(b) Sodium sulphite and sodium sulphide?

1(2) 91 (1) o Agla W) s ¥
kel S Adalt Oy Al
1 (AhkeeS S¥alae (943) (2
W399 pgrgaltiuiagys (1)
§p 903 guall
o S g pgaaguall Celo S (<)
$p 923 guall

31. In the following equilibrium system:

Nz + 3Hz = 2NH;y

What is the effect of the following on the
rate of ammonia formation?

First : Increasing temperature.
Second : Increasing pressure.

PR IR (PN (D
,  AH=(-)
e b Lee JS 5l Lo

S Ll (oSS Jome

Byl ot A ya Baba) ¢ W gl
daraatidalsy s Lold
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32. Choose the correct answer:

The law of mass action can be applied on:

Sodium chloride solution.
Ammonium acetate solution.

Potassium hydroxide solution.

Hydrochloric acid solution.

® 06

+ Aovouall Al W1 S5 =YY

f e LSl Jad O 9918 Godal (Ses
pozagall v )elS Jgloe
P o e ¥ Ol Jgloe

-9 gd ) S gyt J glme

©®OO

L) iS gyl paes Jgloe

33. Write one use only for each of the | taid 1l Leldsiul caS) =YY
following compounds in the following | Joixt) 8 SLS patt (po JSI
table below: i

Name One use
P (daid i lg) Alusiawy
Poly vinyl chloride |
(Pve,y o

(PVC) wjais Juild g

Teflon

OsLa!
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34. Show by chemical equations, how to obtain: | : 480w S¥slaat sy -V ¢

Trinitrotoluene from benzene. WS e diamiaS
2l (ye (x5

35. The following reaction represents a galvanic cell: . aolals dds Jias JLI Jolaitt -Yo

Mn + Ni?* — Mn?" + Ni

Knowing that: Jia Y 3¢ Of Ceale 13L3
The standard reduction potentials of: PO JSI Aulat
Manganese (Mn) =-1.03 V —1.03 'V = jisviett
Nickel (Ni)=—-0.23 V —0.23 V = gsaa
First: Calculate the emf of the cell. Aty emf ot ¥ g
Second: Write the cell diagram. Al > Sas ¥ 311 ST L
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36. Show by chemical equations, how to 28 Ah LS O¥ alaat by sy -1
distinguish between iron and magnetic iron | uist dwSi g dudod | (et josed
oxide by using hot conc. sulphuric acid. e ALY (i Liial

-0 Lt 3S el Sy oS3
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37. Choose to answer (a) or (b):

Write the scientific expression indicated
by the following statement:

(a) A magnetic property which
characterizes the ions, atoms or
molecules that have unpaired
electrons in the sublevel (d) orbitals.

(b) The process of collecting fine particles
of iron ores to obtain larger particles
suitable for reduction process.

38. Choose to answer (a) or (b):
Write the total reaction taking place in the:

(a) Fuel cell.
(b) Lithium ion battery.

1(2) 91 (1) e Al W1 i YV
JIad (el mllaaed) LS
15 lualt e
Ob ¥ el dwdolide duols (i)
A R R N (P PO Y
B Baya Glig S e (g g
.(d) el & eenad | ¥ Ly o
Al Olao prend ddes ()
Q%QSSM‘%MJ‘
g5 Jgud ST

(@) 91 (1) oo Al i -YA
1o Coalond | ASSY Jo L2t A slae LOS)
SYCPLUPMEN()
ot ads ()
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39. Choose to answer (a) or (b): () 91 (1) e Al ¥ i3 -Y4

Show by a chemical equation the effect | i Adiladd Alalaetly pudy
of acidified potassium permanganate on: |, e daemell pguulisd! Sliloia p

(a) Ethene. - oid1 (1)
(b) Ethanol. sl (o)
40. Explain: sy -

Titanium alloys with aluminum are used | &= po=teid! Lhilew pusius
in the manufacture of aircrafts and space | <!slaliaclis 2 ag4cwgdY|

shuttles. Al OLS yolly
41. Choose the correct answer: s Asvouall Wle W 5 - ¢
On mixing two equal volumes of nitric O rgbesin (e dald e
acid and potassium hydroxide solutions, | weuSgyiw el iddl jaes Jolos
the concentration of each of th(?m equals | 0.25M Legis JS 58,3 sl g
0.25 M, the produced solution is: 55 L Jslonal Gl
(@)  Neutral. stz (1)
®  Acidic. e
(©  Alkaline. Loz
(@  Amphoteric. Sy ()
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42. Choose the correct answer: s Asvouall Al W ) ¢ Y
When the external circuit of a lead o2 At Sl Gl e
accumulator is closed (discharged): (A oy p3) i lics y31 S ual

(@)  Lead atoms deposit on the anode. SE¥ e oo 13ty ey (1)

(b  Lead atoms oxidize and the ol Mo wuslis (O

concentration of the acid decreases. ol 38 53 g
(©)  Lead atoms oxidize and the pobio 1oy awsla )
concentration of the acid increases. coaamd ) 8 53 31359

(@  The lead accumulator acts as an M e\

: FRA PR TP f il
electrolytic cell. S gYes ol @

43. Calculate the pH value of a weak (i 93l (¥ Aad Cuws ! -8 Y
acid solution whose concentration is haids g as Jotomad pH

0.01mol/L knowing that its Ka =1 x 10~ 0.01mol/L 53853

A x 1074 Ka ob Lle
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44. The molecular formula C,H.O >3 CoHg O adjod) diualt - ¢ ¢
expresses two isomers. F(OMSET) e 3 (g Licie (o

First : Write the structural formula for | ys1 astidi aacati Last ¥ i
each of them.

Second : How canyoudistinguish between o )
them? Flogion jonedleliSos a8 2 LA
45. Show by chemical equations: Ao LS OYaladlbip—sg -£0
How to obtain black carbon (finely Fale digadd s
divided carbon) from anhydrous sodium (5oned! 93 5S31) (390,831 3 g
acetate. SAile MY 2 s gl Silieu) (yo
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